F18[ (1) KA REZFHREERMFELESYI—KE

LFE)—T>
A=k ERIIIBRAEY F2F (LA
F—L% |hT443| $HHE A& [ B | 5| B [Ba|E8alks| 2| 8
ATAFZ 3-1 0-0 1 1o 4] 31| 2|1
¥ H 1-3 0-2 olo| 2] 0|1 5| -4 3
BAEr b 0-0 2-0 1 1 0| 4| 20| 2] 2
HTFAAS—RHI BEEAZREDD, BEHICKY ATFAT14L, BHL2465EE
B/A—k  tHNBRLXEIFIUR (LAE)
F—LB | S4X |7T«4FR| HF | o | B | BR|ER|EXR| = | B
4R 2-1 5-0 2100|671 6
TTAF R 1-2 5-0 1 0 1 3|1 6| 21| 4
BF 0-5 0-5 o|lof|2]0]| o0f10]-10
- THEK(0-5)
C/N\—=k  E£HINBRLET SV UI4ED
F—L% KiE  |on—mavy| J\IB | » | K |BRER%xs = | B
PNl 0-4 3-0 11 0| 1 3|1 3| 4]|-1] 2
I—qv5|  4-0 7-0 2|1 0| 0| 6 |11]o0] 1 1
AN 0-3 0-7 o|lo|2|0]o|10]-10| 3
D/A—k  EHNBRLEITSIUR JIE)
F—L% | Bl |£HRE| AR | » | B |BRERX8 = | B
=izl 0-5 0-0 0| 1 1 11 0| 5]|-5]| 3
SRR 5-0 5-0 20| 0| 6|10] 0] 10][1
HR 0-0 0-5 0| 1 1 1]l o|5|-5]| 2
B, BR--FEHK(0-5) HMEOHER HRFE26L, BHAIMGLEE
E/N\—F  FBXHDSPYSHUR(T—ILAD
F—L% =154 EH W/ | B » | B EBREREE = | 8
L5 0-0 1-0 1 1o 4] 1]o0]1 2
EH 0-0 1-0 1 1 0| 4] 1 0| 1 1
R/ 0-1 0-1 olo|2]o0o|of|2]|-2]|3
EH—FH PKER(5—4) CTEHDES
F/INi—k  BRHSPY SR (T—ILHE)
F—L% AR BEAn HE B | » | K |BRSR%xs = | B
AR 0-4 2-2 0| 1 1 1 2|16 |-4]| 3
EXH 4-0 0-0 1 10| 4] 4|0 4|1
EES] 2-2 0-0 ol 20| 2|2|2|o0]2
G/A\—F  BRHSPHSHUR(GEEAD
F—L% WE P &H | » | B |BRERX8 = | B
WER 0-5 0-5 o|lof|2|o0of o]l 10]-10]3
R 5-0 5-0 2|1 0| 0| 6|10 o0]10]|1
&H 5-0 0-5 1 0| 1 3|1 5|5]| 0] 2
W Tk (0-5)
HAN—k BRSSPI SR GZAEA])
F—L% = BB | HOYO | B | » | B =B =R|Xx=| = | I8
= 0-5 0-5 o|lo|2|0]o|10]-10] 3
B3:&dt 5-0 2-0 2l oo 6|70 7|1
HOYO 5-0 0-2 1o 1|35 23] 2

FE---FEHK(0-5)




